I H - 2024/6/1 FHRE mE i—
ks Tz MmO X AR b R ROk e N e BB GRS
BG4 JENTIRRE 7T R gt e KRR HERRR
BRI ek B H S bt 4 Me ke BB e
A 4+ ER LA P2\A RZ\A Afr 54% 6fir e 8fir
BB T 6H1H 200m NiE HHQ3) w22.64 (+2.7)|/)NE  #HE(3) w23.17 (+2.7)| %% EAQ) w2355 (+2.6) | HIK(2) w23.88 (+2.8)|#A  <LE(3) w24.03 (+2.7)| R BK(3) w24.10 (+2.6)| 258 #hER(3) W24.36 (+2.6)| A HEH(3) w24.41 (+2.6)
BaP - ek TR[FTE - &E+E(F) TR|FIEEEF - KR TRFTFMA AN F TR|FFEMA - A TRFTR - HIRE—h TR £ -4 EE—dh TRFTR - BEFHH
6H1E 100m Pt = 16)) 53.02|fF#E 5(3) 55.30(pIEE  FE(3) 55.86|1% HE=+(3) 56.75|/\R #ER(3) 57.09[BR —H(3) 5754|188 f$K(3) 57.61(FH KBEEQ) 57.91
Hiik /T TR|FR - AFoh TR[FEE - KR TR|&GB-/IHF i BEHH HFH-KEEFR bkt B FIR-FARP
6H1E 800m BE - AA(3) 2:03.02(#% Z=L(3) 2:03.88|/I\ith BE2L(3) 2:06.48|HH HH(3) 2:08.41|/\F  5H(3) 2:08.85|/\tk & (3) 2:11.42(2  PHQ) 2:11.88|5=8  AH(3) 2:12.14
[ 85 - KR TR|&GB-/IHF TR|ER-ARF TR|BEA - 5 TR| P - RE TR|# -3l L)l FI 8 - KR
6H1E 1500m ®rE BHG) 4:23.11|1%58  KFQ3) 4:25.24|®HHE  BEHQ) 4:25.85| K& BEL(3) 4:28.36[/Nith BE2L(3) 4:29.21(8K  HA(2) 4:29.37E  #5#B(2) 4:29.53|%ME (2 4:31.44
FFEA- AR P TR|AR-ARF TR[BEA - %+ TR|#B- R TR| AR AR TREE - #3E+ TR|BEA- 5+ TR|Y kBT EL v 2 ZRC
6H1E 3000m HE B 9:35.37| k& #:L(3) 9:37.82|1£8  HKF(3) 9:39.72[/ME - A(3) 9:4357|7%MHE HE(2) 9:57.26| KA E(3) 9:57.80| k% £3R(2) 10:41.35|8 B E#(3) 10:51.40
FFEHE - AN TR|HTE - BRI TR| AR -ARF TR|HTE - BIRF TR|Y F Y ERT7ILEL Y 27 ZRC HFH-EP T T
6H1E Lomb mE BEQ) 15.35 (+0.7) [/\1 R%&(3) 15.50 (+0.7) | R&JII EA(2) 16.54 (+1.3)[/hig  F+E(3) 16.61 (+0.7)|&H #2E(3) 16.62 (+0.7) (&1L ¥EH(3) 16.90 (+0.7)[#f AE(3) 16.91 (+0.7) 2 #1(3) 17.98 (+1.0)
e 1R TRIHFE - 1LRF TR - IR TR FE - IE) I+ TR|#FHE A F TR FH - AAF TR R - Sk F &P TR|4t5% - B h
P87 - KR A 44.74| %15 LB HA 45.04|#F £-F)IHA 45.69| %735 - Rl A 45.85|%135 - BixsH 47.30|#rFH - % THFHA 47.45( AR FRHA 47.45|F B8 - 2EBA 4753
R EER) =H BB) Wb BELQR) i ®HEQ) ME £502) AR HR(3) E E(3) &I B(2)
6A1H 4x100mR 45(%% P NE)] R T REQ3) R AE #0) R R AAB) R =l AIEB) R bizk N e[} R R RIFQ) R E@M #(2) r
IR e (3) mE BEQ) —/# &30 D E=H(3) D BEASH3) FIER  YEA(3) =l ®R(3) i WME(2)
BO AAB) e 1&AB) WH EHER) ) BBE3) 2B #(3) FME HREE(3) B B3 LR ATHH(2)
il EBHQ3) 1.65[F1L R (2) 1.60[FER  ATE(3) 1.60[/EH BiE(3) 145K+ $HEQ3) 1.35(EH#  BEFI(2) 1.30
6A1A - HFM-Ahsp =TR|#¥MH - E=F HFSH - B HFM-Ahp BaPy - R geeh AR-ARP
R REFQ) 1.30
FR-ARP
6H1R - =F B0 4.00[4t B2HE3) 3.80[F& (2 2.70[F# 22 2.70[tE8 BEQ3) 2.30)EE MWEQ) 2.10|7#  mEsR(1) 1.90[iE:2 @2 1.90
REEMEMF RF R RF £l A £ -3l R £l
6H1H ik R TBR(3) 5.96 (+1.4) A #FH(3) wh.87 (+2.4)|ER  BEK(3) 5.86 (+1.7)|&H Q) wb5.85 (+2.6)| B E(2) w5.80 (+2.5)[/\E  MHEE(3) 5.61 (+0.2)[A&f H®R(3) 5.55 (+1.7) 4@ FRE(3) 5.43 (0.0)
s mE R E(R) TR|# %M - REHFH TR[#FB - BRE—h TR|# %M -E+H TR[F M- L#+H TR|# %A - 058)1 HFH - RESFF HFH - KEEFF
. . EH BEE) w10.96 (+2.1)| =k  7RR(3) w10.05 (+2.6)|5F EHE(3) 9.81 (+1.6)[ 1L E&(3) w9.72 (+2.2)
FRFARP AR -ARF HFEH k4 Ap b5 - B gE R
6H1E P Rl $RE(3) 11.27(% il #8(3) 106954 FE®Q) 10.00|35 7 4T#8(2) 9.22|BiE EHQB) 9.21|HE %=%(3) 9.02[B#E 2(2) 8.95[&&/II 1#(2) 8.39
HFEH AP TR|FHHE k4 A+ TR[FTHHA - %$TFH =TR|#15 - XHE+ b5 - 2 fE ik BEHH Him - AR Him - B
6ALH | vrmyyaoe Bis 22 41.06|WEE  #7(2) 40.35|7% @ =(2) 3773|4411 EEB(2) 36.67|# e #EH(3) 33.37| KB B2 32.84{% L #A(3) 30.22|5#E ®(2) 28.44
Hi - ARG Hiim - KU Hi - A FRERM-RKEFF FHEM- k4 KT HFEA-KEEFH FHRM- 4 AR i AR
6H1E DR AR B(3) 2428|MF E@Q3) 1866|AH Z28(3) 1543|Eefd 2947 (3) 1410| 75 BR2F(2) 960
8 - e Him - EERE(F) HiFME k4 A - LB M- B —h
641H 110mH 15.34 (+1.2) 15.81 (+1.2) 18.24 (+1.2) 18.08 (+1.2) 23.02 (+1.2)
641H R 11.58 7.51 8.01 7.02 6.16
611 JE bk 1.65 1.45 1.45 1.40 1.30
641H 400m 56.66 59.71 1:02.80 1:04.65 1:03.49
BT 611 L00m =5 Bk(l) wi12.55 (+2.6)[ 8 =(1) wi12.57 (+2.6)[8 1=(1) w12.80 (+2.4)|728 #=L(1) w12.81 (+2.1) |8 BERK (1) w12.96 (+2.1)|4f  Z(1) wi13.11 (+2.6)[fnEE  S#E(1) 13.21 (+2.0) =18 =(1) w13.25 (+3.6)
i - i TR|#FME- AN+ TR &2 ME Y F TR|FIEE - KR F TR|#18- &R+ TR|BEPY - sp 5 Hm R A £kt EB—eh
6H1R 1500m R () 4:46.97|85K K1) 4:51.27(#EAR  1&5T(1) 4:52.04(AH  ZE3(1) 4:54.90 53 ANQ) 4:55.60| A4S 1875 (1) 4:58.13|fFEE  #(1) 5:06.48|pE E(1) 5:10.81
R AR -ARF 1TR| 4 £ -4¢ FE—eh 1TR| AR - ARILF 1TR[# F Y ERT7ILEL v 2 ZXRC 28 %5 - kR o A E-bt £ —rp R s
24 6H1H 100m [EHE FaH2) w1158 (+2.8) |7 HIL(2) wll.74 (+2.8)|BFH #(2) w11.86 (+2.8)[iE&EE AI#I(2) wl11.99 (+2.5)|E €&(2) w12.00 (+2.8)|B91R  &iE(2) w12.02 (+3.5)[ 13  f(2) wl12.02 (+2.8)|[R —3A(2) w12.05 (+2.8)
Y rUBRTILEL Y 7 ZARC 2TR[FNFH - AN F 2TR[FHH - EHH 2TR|FIEEF - ZHF 2TR|#TR - BIXH 2TR|E R - Atz 2TR|FIEEF - KR 2TR| & EEMEMF 2TR
ST 6H1R 100m WHE  =H03) wl11.10 (+3.2)[mmEE &R (3) wl11.20 (+3.2)[/\iE  HE(3) wll23 (+3.2)[E2R Kt (3) wl1l1.23 (+3.3)|VE  F#E(3) wl1l.27 (+3.2)[%%F EKX(3) wll.32 (+3.2)| & A(3) wll.36 (+3.3)[%% 1=(3) w11.37 (+3.2)
k- F)lep 3TR|#E - LB+ 3TR|BEA - A& 3TR| AR ARIH 3TR|FTR - @EHE(H) 3TR|BIEEF - KR H 3TR|#B - Kl 3TR|AS E 5Tl 3TR
IEAEER T | 64 1H 100m AR EA®B) w13.85 (+2.4) [/t #BK(6) 13.94 (+2.0) [ L #17(6) 14.18 (+2.0) |15  #EXZ(6) w14.32 (+2.4)|fEE AN (6) 14.62 (+2.0)|348  #535(6) wl14.74 (+2.4)|Z# 3 (6) wl4.75 (+2.4)|FHH  #E(6) w14.93 (+2.4)
Ko 57 F 2 BFAC BRVECTYIV I 5T [ EFAC LIF7=TFC s 57 LI$7TFC LI$7-TFC
6H1R 1500m HLE A 6) 5:03.49| 1k ER(6) 5:17.38| B ALHH(6) 5:25.22[FF  %i&(4) 5:26.89|FH & 2 (5) 5:27.73|/I\ith K (6) 5:43.94(=1E EP(5) 5:44.13% & HK(5) 5:44.92
ARVEXTIVIFT ARVEXTYVIFT LI£7-TFC ARVEXTYIVITT LIE7-TFC B EFAC ARVERTI V05T ARVERTI VI FT
s 5 7A 58.12|FIEEFAC 58.99(#f# 2 5 7B 1:04.54| #1225 7'C 1:04.65
i BR(6) BB #K(6) PRk EA6) FHE &2(5)
6H1A 4x100mR I 454E(6) s FER(6) #HE KEA(6) w5 BE1)
BIR  f&Hs1(6) &iE KE(6) L Hks(6) Btk %k (5)
A EA6) N2 PN () R ®s76) BE 2z
6H1E ik i K%E(6) 3.84 (0.0) [ #54a(6) 3.79 (-0.3)[ikE ZA(6) 3.70 (+0.7)|fFEE  E#H(6) 3.67 (+0.1)[F#E  wE(6) 3.56 (-1.2)|1£8E &BE(5) 3.50 (0.0)[B9#R  1&#4(6) 3.46 (-0.6)|i5%F  #K(6) 3.37 (-0.4)
[ EFAC iy 57 LIE7=TFC s 57 Wiy 57 LIE7=TFC Wiy 57 [T EFAC
GALH | vy Pk B (6) 49.20|485%  #IK(5) 36.95[fEA  SEA(6) 3584k £ ZA(6) 34.78| R fZH(6) 33.88|1HE 5 (4) 3L52|B1R  4855(4) 27.26|BEE EZ(5) 22.17
s 57 LI$7TFC Wi 77 LI$7TFC LI£7-TFC L g7 TFC Wiy 57 Wiy 77
N . &) EAQ) w15.88 (+3.2) (B34  SFiE(3) w16.45 (+3.2)|85A  HEA(Q3) w16.64 (+3.2)[0 #:H3) w18.33 (+3.2)
el e 58 Hg B 8- LB - A
Vexssennt | 6g1a L00m AR wl12.57 (+4.1)[E+ EF(1) wi13.01 (+4.D) | S¥EQ) w13.08 (+2.8) (AR (1) w13.10 (+4.1)|3R#F (1) wl13.16 (+2.8)|&E R®(1) wl3.21 (+4.D)| A 1&E(1) wi13.22 (+2.8)|FEM (1) w13.25 (+2.8)
FRME-RE TR|# %M - 25+ Hiim /N BAPY - R Zerp £l # E-dt EEE—rp i - A i AR
gtEAs v BT | 6510 L00m BH 2F(2) wi12.13 (+2.4) [N #6#B(2) 1213 (+1.9)|E&I B(2) 12.28 (+1.9)|piE #E(2) w12.36 (+2.4)| B8 —#(2) 12.37 (+1.9) | #&#1(2) 12.42 (+1.9)[# L+ BH(Q2) wi12.43 (+2.4)|B1E EHE(2) w12.45 (+2.4)
s SBAS 2TR|#5 - BESH+ 2TR|F2 8- A FAI B 85 - 2 i H B # E-dt EEE—rp HFE-E—f Hii - Al
AT A BT | 6A1R L00m —/# &30 11.79 (+1.8)|75# $RER(3) 11.87 (+1.8)|&FME #E(3) 11.88 (+1.8)[ 1L Z=3K(3) 11.93 (+1.8)EEE #H(3) w11.93 (+3.4)|F1E FE(3) w11.95 (+3.4)|ZEhk 412 (3) w11.97 (+3.4)|B:E Q) w12.01 (+3.4)
A E-5E)Ie 3TR|#t £ -4f EE— 3TR|#i5 - s 3TR|AR - ARILFH i - A HFEM-KESES E R Nk e BB AS




I H - 2024/6/1 IR mE i—
ks Tz Hi3lEl kX AR e B LR N e B R
BG4 JENTIRRE 7T R gt e KRR HERRR
BRI ek B H S bt 4 Me ke BB e
A &R 14f 2 3hi M 5hL 6z ThE 8L
St 6ALH 200m AR FHO) w26.54 (+3.2) |18 HEZ(3) w27.07 (+3.2)|E#  4af2(3) w27.46 (+3.2)[B#E =< 5(2) w27.51 (+3.2) |8 42(2) w27.56 (+3.2)[ 1L ANZ(3) w27.66 (+3.2)[fnEE  #FE(3) w28.38 (+2.6) | ¥k ¥EfiN(1) w28.47 (+2.3)
R BEBH TR[FTE - =@+ TRIIRT TRIFTHA-F—F TRIFTE - LR F TR|A E-A EE—rh TRFTFE- £HF P25 85 - kR
6H1E 800m w2 ‘LR 2:27.62| 8 BH4IEQB) 2:28.81|/EL —7E(2) 2:30.75|5%  ##(2) 2:31.28|5m8  &&E() 2:32.90[/\11 - K#E(3) 2:34.42|112 R EFE(1) 2:34.78|5%  ER(1) 2:35.76
AR -ARH TR|AR - AR+ TR[FEE - HF ik LB BEPY - R &R HFEE-E—F HRYBERKTILEL Y2 ZRC
61H 1500m HTFER #EME(3) 5:05.02|@2 &|E(2) 5:14.28(#2R  EFME(1) 5:17.12(= K&(3) 5:17.98 5:18.75|#kil & (3) 5:19.06| ML —7E£(2) 5:19.71|/M11 - KHE(3) 5:21.58
k- HHP TR|AR - AR+ HFM-F—F RF FR-FARP FIE%-2HPR BAPY - &R
6H1E 100mL1 NE HKO) 15.02 (-0.1)| ek #=1E(3) 15.20 (-0.1)|su #F(3) 1548 (-0.1)|f% &) 16.03 (-0.1) 16.27 (-0.1) |tk E3E(3) 17.04 (-0.1)|:28 #(2) 17.15 (-0.1)|&EAR WD H(2) 17.39 (-0.1)
T HFEH- SHF TR|#- & A+ TR[FTR -FTEE—H TRIFR - B TR{FTR - A7+ HB IR YrUEBSRTILELY 7 ZRC
wF 52.89|H KM -E—Fh A 53.13| AR - Ak R 53.39|¥1%- EHH 53.90 55.04| ¥R FT2E 55.23| %18 AP+ 55.43(# %M - J=iEHA 55.87
BB HF(2) Al H7A(3) EE 02 i 24(2) BB R( &S FHO) E EEEQ) AfALO(2)
6111 4x100mR  [FUB FKR(3) B <52 - #%B k=E(3) - WiE A (2) Tl 274(3) # KEQ IR E3E(3) Al BHE(3)
KB HEZ(2) # BBE2) EN ZEE(Q2) Rt FHEQ) PR B4(2) Bef DE(3) B Ex2) &F Fik(2)
BH REG) A+E £0) o WEQB) WE BE(3) 2 B3 B&) #ME3) w2 EER) FE EZQ)
6A1A ik #OREQ) L46|ER BHH3) 1432 OMEQ3) 1.35|3#18 EFO) 1.30| BT &HR(3) 1.30|5K £#E0B) 1.30[/vk FE(1) 1.25| A Fi%F (1) 1.25
s R4 TR|#8 - Rk #tEmh #NAME? | #755 - & E 2 FAPY - R Zerh HFE - JREIG HiFM -G H HFE - AAF HFEE-KESHS
6SI1R Henk 5K £EO) 2.80| k& #%(2) 2.30[tE  RIE(3) 220(8@ =% 2.00[&=&)1I (1) 1.50
HFM -G H TR|# %M - =15+ TR{#H M- &iE+H TR|# %M - =G+ TR|# %M - =&+
6H1R - wH Q) w4.86 (+2.3)| R #IP(3) w4.80 (+2.1)| =18 1HZF(2) 4.72 (+1.6)[a15 E(3) wa.68 (+2. )& 7B (3) w4.65 (+2.8)|# £ EA(2) w4.56 (+3.6)| /011 R (2) w452 (+2.3)| BB FP(3) w4.34 (+2.8)
Hiie - =R TR|#15- BESH+ TR|HLs - 228 TR|# %M -E—F HFE-B—h MHB e - PYERT R i s
6H1R L EEE BME) 10.63[E&H EL(3) 9.98|#Hd A (3) 9.34[F0 EEHE(3) 9.15[ME 32 8.82[ LM mEE(3) 851lam  #EQ 832[ILE #»WLY(3) 8.31
H - R TR|ILE -4+ TR[#8 - HH R+ TR|#135 - AF+H HFE-KESFH Hiie - 2ET Him- LB E 8- B %ASH
ety |BE - ALEQ 15.77
6HLH [ ¥4~Uyszm I
6H1H TR LA A1) 2166(%E #2(3) 1880| &% H£(2) wl778| =) HiF(2) 1677|#6  BBAE(2) 1527|168 %(3) 1434|758 BK(2) 1222
HRYBRKTILEL Y 2 ZRC TR|#r% M- A Him /TR R HFH B —h Hik - s HEYERTILEL Y 2 ZRC
6410 100mH 16.41 (+1.6) 17.61 (+1.6) 18.17 (+1.6) 18.15 (-1.8) 19.39 (+1.6) 19.04 (-1.8) 20.80 (-1.8)
6H1H Bk 1.40 1.30 1.15 1.20 1.20 1.15 1.25
611 i AL 7.29 7.43 9.31 6.65 7.00 8.00 6.60
641H 200m W 27.95 (+2.4) W 28.67 (+2.4) w 28.96 (+3.3) w 28.67 (+3.3) W 29.40 (+2.4) w31.51 (+3.3) w 32.62 (+2.4)
kT 6ALA L00m (L) w13.46 (+3.9)|dbA  #752(1) w14.12 (+3.9)|MASLEI Eva(1) wW14.47 (+3.5) /& z 75(1) w1455 (+3.1)|3%48  t£@ (1) w1457 (+3.9)[E:2 (1) w1457 (+3.1) |k FHRER(1) w1458 (+3.9)|R FE2(1) w14.61 (+3.4)
[ 85 - KR 1TR|BAA - R &R 1TR|db 5 - BogE b8 - B0 gE R Him - AR b5 - BogE i EEP HRYBERKTILEL Y2 ZRC
N 6H1E L00m g PH2(2) w12.88 (+3.9)|TA E3(2) w13.01 (+3.9)[&E#E =< 5(2) w13.15 (+3.9)|# £ E=m(2) w13.47 (+3.9)|Fc#  Hk(2) w13.66 (+3.0)|E#E #5(2) w13.74 (+3.0)|/N1l - #RE(2) w13.81 (+3.9) |k @(2) w13.91 (+3.0)
Hi - LB 2TR|#15R - BEH R 2TR|#%H-5—F 2TR|MHB RizeAC FR R Yo - BT FR-FARF
I 6H1E L00m W E2Z(3) 12.79 (+2.0)|FAR  FH#O) 12.88 (+2.0)| 7%  FFK(3) 13.01 (+2.0)|&H MiC(3) 13.27 (+2.0)| 1Ll #1%(3) 13.28 (+2.0)|iE:2  OEQ) 13.34 (+2.0)|FFE #PO) wi13.49 (+2.4) ;AR B5EEE(3) w13.50 (+2.4)
HR - EUHE 3TR|FTE - SEFHH 3TR|3R T RF A4 £+ EE—dh 3TR|FTR - BEFH 3TR|FTR - BEFHH 3TR|FTR - KFEH 3TR
ek | edn 100m RE Ei(6) w14.06 (+2.2)[#858 X (6) w1441 (+2.2)|h8 EZ(6) wl4.46 (+2.2)|B18  3230(6) wl4.75 (+2.)[B2 EX(6) w14.77 (+2.) )1l #(6) w15.24 (+2.2) [fRH  ZFHR(5) 15.35 (+1.8)| &8 pZ<HB(6) w15.53 (+2.1)
B EFAC iy 57 LIg7TFC iy 57 Wi 57 L g7 TFC LI$7TFC LIg7-TFC
6H1E 800m it ERE(5) 2:43.92|FIE8  E3IRER(6) 2:48.84|7% E%(6) 2:54.89(t58E  INE(4) 3:00.80|#2/7 12D (4) 3:18.55
LIg7TFC LIg7TFC L7 TFC BERVECSYVI5T LIg7-TFC
Wi 77 1:00.59
Bis  3k3a6)
6A1H 4x100mR B2 EX(6)
s =G
#%By RE(6)
6ALH J— BE EX(6) 4.00 (+0.3) [t BE38(6) 386 (-0.8)[WE EH(6) 337 (-0.D[EHER ZE(6) 3.25 (0.0)[5% (5 3.03 (+1.0)
Wino 77 o 57 L7 TFC LI$7TFC LIg7-TFC
o EE 1wE6) 26.21|M  E¥k(6) 21.30|%88 Xw(6) 20.79
e R [ s LIgHTFC HHS 57
Sl ot | 610 100m1 £T EEQ) 16.56 (+2.0) [/ #k  E=3E(3) 16.59 (+2.0) [ WD #(2) 17.00 (+2.0)|:25 1&(2) 17.03 (+2.0) R %%(2) 17.37 (+2.0)[FR EAQ) 17.39 (+2.0)|%87 skx(3) 17.40 (+2.0) [=&)Il #8#0(3) 20.93 (+2.0)
R i ARE R TR[# FYEZTILEL v 2 ZRC Hik /N d R i AR Hii /N AR - R - FEE _f
e Eili=a=10Y] 14.57 (+1.8) |18k B2 (1) 14.59 (+1.8)
R R I | X yr5em- B
StEs ek d | 6A1R 100m o k(2 w13.60 (+2.8) |tk 8 (2) w13.66 (+2.8)|E#E #5(2) w13.68 (+2.8)[it)lIl Z%#(2) w13.68 (+2.8)| A WDH(2) w13.78 (+2.8)|/NIl  FRE(2) w13.96 (+2.8)|5&E SHF(2) wil4.14 (+2.8)|/N\& #E(2) w14.36 (+2.8)
RizeAC 2TR| B R ARF BRI R AR R R HhIBERTILEL Y 2 ZRC Ve - B RT R AR - R R H$ R ERKTILEL Y 2 ZRC
Akt | 6A1R L00m B BHL(3) w13.39 (+2.5)|E+E =03) w13.48 (+2.5)|#E #EZ(3) w13.52 (+2.9)|#  #1E(3) w13.59 (+2.5)| 1Lk E#(3) w13.62 (+2.9)|## #E(3) w13.62 (+2.5)| &% MHEQ3) wl3.71 (+2.9)|%# BM(3) w13.74 (+2.9)
) HR-ARP 3TR|# A -£—+ 3TR|#TFH - J=15H AR R AR s BEHH FFA- AN p FFEE - A)F s AR
w (wind assist) : 1BJEZ%&
TR : @{EHELE  =TR: BEI@ELEY A TR BEVEREE 2TR: WE2FGE  3TR : IBIE3FaE




